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ijh{k.k iqfLrdk

lkekU; vè;;u

(iQjojh eSx”khu tk¡p ijh{kk)
fnukad& 13-02-2022

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 oSf'od cgqvk;keh xjhch lwpdkad (MPI) ds lanHkZ esa] 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 MPI ds rhu Hkkfjr vk;keksa esa LokLF;] f'k{kk vkSj 
thou Lrj dks 'kkfey fd;k tkrk gSA

	 2.	 bu rhu Hkkfjr vk;keksa dks 14 ladsrdksa }kjk çLrqr 
fd;k tkrk gSA

	 3.	 oSf'od MPI -2021 ds vuqlkj Hkkjr dh jSad 66oha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1	 (d)	1, 2 vkSj 3

	 2-	jk"Vªh; ifjokj LokLF; loZs{k.k (NFHS) ds lanHkZ esa] 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 NFHS dks LokLF; vkSj ifjokj dY;k.k ea=kky; 
}kjk tkjh fd;k tkrk gSA

	 2-	 varjkZ"Vªh; tula[;k foKku laLFkku] NFHS ds fy;s 
uksMy ,tsalh ds :i esa dk;Z djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 

	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1, u gh 2

	 3.	 jk"Vªh; fof/d lsok çkf/dj.k (NALSA) ds lanHkZ esa] 
fuEufyf•r dFkuksa ij fopkj dhft;s% 

	 1.	 NALSA dk xBu lekt ds de”kksj oxks± dks eqÝr 
vkSj l{ke dkuwuh lsok,a¡ çnku djus gsrq fd;k x;k 
FkkA

	 2.	 NALSA Hkkjr ljdkj ds fof/ vkSj U;k; ea=kky; 
ds vèkhu gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2

	 4-	vkerkSj ij ^xksiuh;rk fo/s;d* ds :i esa tkuk tkrk gS%
	 (a)	 fpV iQaM (la'kks/u) fo/s;d

	 (b)	 O;fDrxr MsVk laj{k.k fo/s;d

	 (c)	 Ñf"k fo/s;d

	 (d)	 /u fo/s;d

	 5.	 dsaæh; vUos"k.k C;wjks (CBI) }kjk tk¡p ds fy;s jkT;ksa dh 
lgefr ds lanHkZ esa dkSu&lk dFku lgh ugha gS\

	 (a)	 CBI }kjk tk¡p ds fy;s nks çdkj dh lgefr ysuh 
gksrh gSA

	 (b)	 ^lkekU; lgefr* Hkz"Vkpkj ;k fgalk ds ekeyksa dh 
tk¡p djus esa enn ds fy;s nh tkrh gSA

	 (c)	 ^fof'k"V lgefr* esa CBI dks lacaf/r jkT; ljdkj 
ls tka¡p gsrq izR;sd dsl ds fy;s ubZ vuqefr ysus 
dh vko';drk ugha gksrh gSA

	 (d)	 vkB jkT;ksa us vius {ks=k esa tk¡p 'kq: djus ds fy;s 
CBI ls lgefr okil ys yh gSA

	 1.	 With reference to the Global Multidimensional 
Poverty Index (MPI), consider the following 
statements:

	 1.	 Health, education and living standards are 
included in the three weighted dimensions of 
the MPI.

	 2.	 These three weighted dimensions are 
represented by 14 indicators.

	 3.	 According to the global MPI 2021, India’s rank 
is 66th. 

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only

	 (c)	 1 only	 (d)	 1, 2 and 3
	 2.	 With reference to the National Family Health Survey 

(NFHS), consider the following statements:
	 1.	 NFHS is issued by the Ministry of Health and 

Family Welfare.
	 2.	 International Institute for Population Sciences 

acts as the nodal agency for the NFHS.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 3.	 With reference to the National Legal Services Authority 

(NALSA), consider the following statements:
	 1.	 NALSA was formed to provide free and 

efficient legal services to the weaker sections 
of the society.

	 2.	 NALSA is under the Ministry of Law and 
Justice, Government of India.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 4.	 Commonly referred to as the ‘Privacy Bill’:
	 (a)	 Chit Funds (Amendment) Bill
	 (b)	 The Personal Data Protection Bill
	 (c)	 Agriculture Bill
	 (d)	 Money Bill
	 5.	 Which statement is not correct with reference to the 

consent of the states for investigation by the Central 
Bureau of Investigation (CBI)?

	 (a)	 There are two types of consent for a probe by 
the CBI.

	 (b)	 ʻGeneral Consent’ is given to help investigate 
cases of corruption or violence.

	 (c)	 In ʻSpecific Consent’, the CBI does not need 
to take fresh permission for each case for 
investigation from the concerned State 
Government.

	 (d)	 Eight States have withdrawn consent to the 
CBI for launching investigations in their 
territory.
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	 6-	fuEufyf•r jkT;ksa ij fopkj dhft;s%
	 1.	 fgekpy çns'k	 2.	eè; çns'k 

	 3.	 ef.kiqj 	 4.	f=kiqjk

	 5.	 mÙkj çns'k	 6.	fcgkj

	 	mi;qZDr esa ls fo'ks"k Js.kh dk ntkZ (SCS) çkIr jkT;ksa ds 
uhps fn;s x, fodYi esa ls lgh dk p;u dhft;s%

	 (a)	 dsoy 1, 2, 3 vkSj 5	 (b)	 dsoy 1, 3 vkSj 4

	 (c)	 dsoy 2, 5 vkSj 6	 (d)	 1, 2, 3, 4, 5 vkSj 6

	 7.	fofHkUu ns'kksa esa nks ;k nks ls vf/d leorhZ fnokfy;k 
dk;Zokfg;ksa ds chp leUo; LFkkfir djus gsrq eq[; 
dk;Zokgh fdl voèkkj.kk }kjk fu/kZfjr dh tkrh gS\

	 (a)	 lsaVj vkWiQ esu baVjsLV (COMI) 

	 (b)	 lsaVªy vkWiQ okbVy baVjsLV (COVI)

	 (c)	 lsaVj iQkWj flfoy lkslkbVh (CCS)

	 (d)	 lsaVj iQkWj ikWfylh fjlpZ (CPR)

	 8.	 varjkZ"Vªh; O;kikj dkuwu ij la;qDr jk"Vª vk;ksx 
(UNCITRAL) ds lanHkZ esa dkSu&lk dFku lgh ugha gS\

	 (a)	 ;g varjkZ"Vªh; O;kikj dkuwu ds {ks=k esa la;qDr jk"Vª 
ç.kkyh dk eq[; dkuwuh fudk; gSA

	 (b)	 bldh LFkkiuk o"kZ 1966 esa dh xbZ FkhA

	 (c)	 Hkkjr mu vkB ns'kksa esa ls ,d gS] tks ̂UNCITRAL* 
dh LFkkiuk ls gh mlds lnL; gSaA 

	 (d)	 UNCITRAL ekWMy dkuwu dks 109 ns'kksa }kjk 
viuk;k x;k gSA

	 9.	 gky gh esa ppkZ esa jgk ^Xykscy xsVos* fdl laLFkk dh 
igy gS\

	 (a)	 ;wjksih; vk;ksx

	 (b)	 fo'o cSad lewg

	 (c)	 fo'o LokLF; laxBu

	 (d)	 fczDl 

	 10.	 Cyw MkWV usVodZ (BDN) ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 bl igy dh 'kq#vkr o"kZ 2019 esa dh xbZA

	 2.	 bl igy ds varxZr vesfjdk] tkiku] Hkkjr rFkk 
vkWLVªsfy;k 'kkfey gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1, u gh 2

	 11.	 eè; ,f'k;kbZ ns'kksa ds lkFk lg;ksx dks c<+kok nsus ds fy;s 
Hkkjr }kjk ¶iQksj lh¸ (4 C’s) n`f"Vdks.k çLrqr fd;k x;k_ 
;s ¶4 C’s¸ fuEufyf•r esa ls fdldks lanfHkZr djrs gSa\

	 (a)	 dkWeu] dSisflVh MsoyiesaV] datoZs'ku ,aM dkWUVsDV~l

	 (b)	 dkWelZ] dSisflVh MsoyiesaV] dusfDVfoVh ,aM 
dkWUVsDV~l

	 (c)	 dSIpj] dkcZu] dusfDVfoVh ,aM daVªksy

	 (d)	 dkWelZ] dSfiyjh] dusfDVfoVh ,aM dkWUVªSDV

	 6.	 Consider the following states:
	 1.	 Himachal Pradesh	 2.	 Madhya Pradesh
	 3.	 Manipur	 4.	 Tripura
	 5.	 Uttar Pradesh	 6.	 Bihar
		  Out of the above, select the correct option from the 

given below for the special category status (SCS) 
states:

	 (a)	 1, 2, 3, and 5 only	 (b)	 1, 3 and 4 only
	 (c)	 2, 5 and 6 only	 (d)	 1, 2, 3, 4, 5 and 6
	 7.	 What concept determines the main proceeding of 

action to coordinate between two or more concurrent 
insolvency proceedings in different countries?

	 (a)	 Centre of Main Interest (COMI)
	 (b)	 Central of Vital Interest (COVI)
	 (c)	 Centre for Civil Society (CCS)
	 (d)	 Centre for Policy Research (CPR)
	 8.	 Which statement is not correct with reference to the 

United Nations Commission on International Trade 
Law (UNCITRAL)?

	 (a)	 It is the core legal body of the United Nations 
system in the field of international trade law.

	 (b)	 It was established in 1966.
	 (c)	 India is one of the eight countries that has been 

a member of UNCITRAL from its inception.
	 (d)	 The UNCITRAL Model Law has been adopted 

by 109 countries.

	 9.	 The ‘Global Gateway’, which was in discussion 
recently, is the initiative of which organization?

	 (a)	 European Commission
	 (b)	 World Bank Group
	 (c)	 World Health Organization
	 (d)	 BRICS
	 10.	 With reference to Blue Dot Network (BDN), consider 

the following statements:
	 1.	 This initiative was started in the year 2019.
	 2.	 The US, Japan, India and Australia are included 

under this initiative.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 11.	 “4 C’s” approaches introduced by India to promote 
cooperation with Central Asian countries; These “4 
C’s” refer to which of the following?

	 (a)	 C o m m o n ,  C a p a c i t y  D e v e l o p m e n t , 
Conservation and Contacts

	 (b)	 Commerce ,  Capac i ty  Development , 
Connectivity and Contacts

	 (c)	 Capture, Carbon, Connectivity and Control
	 (d)	 Commerce, Capillary, Connectivity and 

Contract
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	 12.	 gky gh esa lekpkjksa esa jgk ^ladYi 2593 (Resolution 
2593)* fdl ?kVukØe ls lacaf/r Fkk\

	 (a)	 viQxkfuLrku esa 'kkafr LFkkiuk

	 (b)	 Mksdyke fookn

	 (c)	 vksfeØkWu osfj,aV~l vkWiQ daluZ

	 (d)	 uscjgqM iQLVZ ikWfylh

	 13-	Hkkjr&eè; ,f'k;k okÙkkZ ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g Hkkjr vkSj eè; ,f'k;kbZ ns'kksa ds chp ,d 
eaf=kLrjh; okÙkkZ ra=k gSA

	 2.	 bl okrkZ esa Hkkx ysus okys lHkh ns'k 'ka?kkbZ lg;ksx 
laxBu (SCO) ds lnL; gSaA

	 3.	 bl okÙkkZ esa eè; ,f'k;k ds ik¡p Lora=k jkT; 
'kkfey gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3

	 14.	fuEufyf•r esa ls dkyk lkxj ds lhekorhZ ns'kksa esa 'kkfey gS%
	 1.	 :l	 2.	 ;wØsu

	 3.	 tkWftZ;k	 4.	 rqdhZ

	 5.	 cqYxkfj;k	 6.	 jksekfu;k

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA
	 (a)	 dsoy 1, 3, 4 vkSj 6	 (b)	 dsoy 2, 3, 5 vkSj 6

	 (c)	 dsoy 1, 3, 4 vkSj 5	 (d)	 1, 2, 3, 4, 5 vkSj 6

	 15.	 fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1.	 cqYxkfj;k dh jkt/kuh feULd (Minsk) gSA

	 2.	 feULd&I le>kSrk ;wØsu vkSj :lh vyxkookfn;ksa 
ds chp gqvk FkkA

	 3.	 o"kZ 2015 esa Úk¡l vkSj Hkkjr dh eè;LFkrk ds 
rgr ̂ feULd II* 'kkafr le>kSrs ij gLrk{kj fd;s x,A 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 2 	 (d)	 1, 2 vkSj 3

	 16.	 ikdZj lksyj çksc fe'ku ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g fe'ku uklk ds fyfoax fon , LVkj (Living 
With a Star) dk;ZØe dk fgLlk gSA

	 2.	 uklk us ikdZj lksyj çksc dk uke ç[;kr •xksy 
HkkSfrdhfon~ ihVj ikdZj ds lEeku esa j•k gSA 

	 3.	 bl fe'ku ds mís';ksa esa lw;Z dh lcls ckgjh ijr 
^dksjksuk* (Corona) vkSj lkSj rwiQku@iou dk 
vè;;u djuk 'kkfey gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3 	 (b)	 dsoy 2 

	 (c)	 dsoy 1 vkSj 3 	 (d)	 1, 2 vkSj 3

	 12.	 ‘Resolution 2593’, which was in the news recently, 
was related to which event?

	 (a)	 Peacekeeping in Afghanistan
	 (b)	 Doklam Dispute
	 (c)	 Omicron Variants of Concern
	 (d)	 Neighborhood First Policy
	 13.	 With reference to the India-Central Asia Dialogue, 

consider the following statements:
	 1.	 It is a ministerial-level dialogue mechanism 

between India and Central Asian countries.
	 2.	 All the participating countries in this dialogue 

are members of the Shanghai Cooperation 
Organization (SCO).

	 3.	 Five independent states of Central Asia are 
involved in this dialogue.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 14.	 Which of the following includes the countries 

bordering the Black Sea:
	 1.	 Russia	 2.	 Ukraine
	 3.	 Georgia	 4.	 Turkey
	 5.	 Bulgaria	 6.	 Romania
		  Select the correct answer using the code given below.
	 (a)	 1, 3, 4 and 6 only	 (b)	 2, 3, 5 and 6 only
	 (c)	 1, 3, 4 and 5 only	 (d)	 1, 2, 3, 4, 5 and 6
	 15.	 Consider the following statements:
	 1.	 The capital of Bulgaria is Minsk.
	 2.	 The Minsk-I agreement was signed between 

Ukraine and Russian separatists.
	 3.	 In 2015, the ʻMinsk-II’ peace agreement was 

signed under the mediation of France and 
India.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 2 only	 (d)	 1, 2 and 3
	 16.	 With reference to Parker Solar Probe Mission, 

consider the following statements:
	 1.	 The mission is part of NASA’s Living With a 

Star program.
	 2.	 NASA has named Parker Solar Probe in honor 

of eminent astrophysicist Peter Parker.
	 3.	 The objectives of this mission include studying 

the outermost layer of the Sun’s ‘Corona’ and 
solar storms/winds.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 only 	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	 17-	fuEufyf•r ;qXeksa ij fopkj dhft;s%
		  (usfoxs'ku ç.kkyh) 		 (lacaf/r ns'k)

	 1.	 thih,l	 &	vesfjdk

	 2.	 Xyksukl	 &	tkiku

	 3.	 ckbMw	 &	phu

	 4.	 xSyhfy;ks	 &	;wjksih; la?k

	 5.	 ukfod	 &	Hkkjr

	 	mi;qZDr esa ls dkSu&ls ;qXe lgh lqesfyr gSa\
	 (a)	 dsoy 2 vkSj 5 	 (b)	dsoy 4 vkSj 5 

	 (c)	 dsoy 1, 2 vkSj 3 	 (d)	 dsoy 1, 3, 4 vkSj 5

	 18.	iQsf'k;y fjdkWfXu'ku VsDuksykWth ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g ,d ck;ksesfVªd rduhd gS tks fdlh O;fDr 
dh igpku vkSj muds chp varj djus ds fy;s 
psgjs dh fof'k"V fo'ks"krkvksa dk mi;ksx djrh gSA 

	 2.	 o"kZ 2022 ls ;k=kh ns'k ds nl gokbZ vîóksa ij 
vius cksfMZax ikl ds :i esa ^iQsl LdSu* (Face 
Scan) dk mi;ksx fd;k tk jgk gSA

	 3.	 bl rduhd dks mM+s ns'k dk vke ukxfjd (mM+ku) 
;kstuk ds fgLls ds :i esa ykxw fd;k tk;sxkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	 dsoy 2 vkSj 3 

	 (c)	 dsoy 3 	 (d)	 1, 2 vkSj 3

	 19-	^fMth ;k=kk (Digi Yatra) uhfr* fdlds v/hu LFkkfir 
dh xbZ gS\

	 (a)	 Hkkjrh; varnZs'kh; tyekxZ çkf/dj.k

	 (b)	 Hkkjrh; jk"Vªh; jktekxZ çkf/dj.k

	 (c)	 lM+d ifjogu vkSj jktekxZ ea=kky;

	 (d)	 ukxj foekuu ea=kky;

	 20-	^tSfod fofo/rk (la'kks/u) fo/s;d] 2021* ds çLrkfor 
çkoèkkuksa ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ;g fo/s;d ^tSfod fofo/rk vf/fu;e] 2005* 
esa dqN fu;eksa dks dBksj djrk gSA

	 2.	 ;g vuqla/ku (isVsaV) çfØ;k dks vklku cukrk gSA

	 3.	 ;g ^Hkkjrh; fpfdRlk ç.kkyh* dks c<+kok nsxkA

	 4.	 ;g tSfod fofo/rk esa vuqla/ku esa fons'kh fuos'k 
dh Hkh vuqefr nsrk gSA

	 5.	 blesa fons'kh fuos'k] tSofofo/rk vuqla/ku esa 
'kkfey Hkkjrh; daifu;ksa ds ekè;e ls djuk 
vko';d ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 5 

	 (b)	 dsoy 2, 3 vkSj 4 

	 (c)	 dsoy 3

	 (d)	 dsoy 1, 2, 3 vkSj 4 

	 17.	 Consider the following pairs:
		  (Navigation System)	 (Related
			   Countries)
	 1.	 GPS	 –	 America
	 2.	 GLONASS	 –	 Japan
	 3.	 BeiDou	 –	 China
	 4.	 Galileo	 –	 European Union
	 5.	 NavIC	 –	 India
		  Which of the above pairs are correctly matched?
	 (a)	 2 and 5 only	 (b)	 4 and 5 only
	 (c)	 1, 2 and 3 only	 (d)	 1, 3, 4 and 5 only
	 18.	 With reference to Facial Recognition Technology, 

consider the following statements:
	 1.	 It is a biometric technology that uses distinctive 

features of the face to identify and distinguish 
an individual.

	 2.	 From the year 2022, passengers are using ̒ Face 
Scan’ as their boarding pass at ten airports in 
the country.

	 3.	 This technology will be implemented as part 
of the Ude Desh Ka Aam Nagrik (UDAN) 
scheme.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 19.	 ʻDigi Yatra Policy’ has been established under whom?
	 (a)	 Inland Waterways Authority of India
	 (b)	 National Highways Authority of India
	 (c)	 Ministry of Road Transport and Highways
	 (d)	 Ministry of Civil Aviation
	 20.	 With reference to the proposed provisions of the 

‘Biological Diversity (Amendment) Bill, 2021’, 
consider the following statements:

	 1.	 This bill tightens some rules in the ̒ Biological 
Diversity Act, 2005’.

	 2.	 It eases the research (Patent) process.
	 3.	 It will give a boost to the ʻIndian Systems of 

Medicine’.
	 4.	 It also allows foreign investment in research 

into biological diversity.
	 5.	 In this, it is not necessary for foreign investment 

to be made through Indian companies involved 
in biodiversity research.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 and 5 only
	 (b)	 2, 3 and 4 only
	 (c)	 3 only 
	 (d)	 1, 2, 3 and 4 only
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	 21-	ikfjfLFkfrd&laosnu'khy ”kksu (ESZ) og gksrk gS] ftlesa%
	 (a)	 lajf{kr {ks=kksa] jk"Vªh; m|kuksa vkSj oU;tho vHk;kj.;ksa 

ds vklikl 10 fdeh- ds Hkhrj dk {ks=k 'kkfey gSA

	 (b)	 vkæZ Hkwfe ds vklikl 20 fdeh- ds Hkhrj dk {ks=k 
'kkfey gSA

	 (c)	 nks ufn;ksa ds chp dk {ks=k 'kkfey gSA

	 (d)	 nks gkWVLikWV vkSj ,d i'kq xfy;kjk 'kkfey gSA

	 22-	if'peh ?kkV ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1.	 if'peh ?kkV esa vkB jkT;ksa ds {ks=k 'kkfey gSaA

	 2.	 if'peh ?kkV ds laj{k.k gsrq ek/o xkMfxy vkSj 
dLrwjhjaxu lfefr dk xBu fd;k x;k FkkA

	 3.	 dLrwjhjaxu lfefr us if'peh ?kkV ds dqy {ks=kiQy 
ds 50 çfr'kr dks bdks&lsaflfVo ”kksu (ESZ) ?kksf"kr 
djus dk çLrko fn;k gSA

	 4.	 bl {ks=k dh lHkh jkT; ljdkjksa us dLrwjhjaxu lfefr 
dh fjiksVZ dk leFkZu fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2

	 (b)	 dsoy 1] 3 vkSj 4 

	 (c)	 dsoy 2 

	 (d)	 1] 2] 3 vkSj 4 

	 23-	xzsV bafM;u cLVMZ (GIB) ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 (1)	 ;g jktLFkku dk jkT; i{kh gSA

	 (2)	 tks/iqj fLFkr MstVZ us'kuy ikdZ esa bl çtkfr gsrq 
,d laj{k.k çtuu lqfo/k LFkkfir dh xbZ gSA

	 (3)	 bl çtkfr dks IUCN dh jsM fyLV esa vfr 
ladVxzLr Js.kh esa j•k x;k gSA

	 (4)	 bl çtkfr dks oU;tho laj{k.k vf/fu;e] 1972 
dh vuqlwph 2 ds varxZr laj{k.k çnku fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 4 	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 4	 (d)	dsoy 1 vkSj 2 

	 24-	Hkkjrh; varnZs'kh; tyekxZ çkf/dj.k (IWAI) ds lanHkZ 
esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 IWAI iÙku] iksr ifjogu vkSj tyekxZ ea=kky; 
ds vèkhu ,d lkafof/d fudk; gSA

	 2.	 IWAI dk eq[;ky; ç;kxjkt (mÙkj çns'k) esa 
fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1, u gh 2

	 21.	 Eco-Sensitive Zone (ESZ) is one in which:
	 (a)	 includes an area within 10 km. around 

protected areas, national parks and wildlife 
sanctuaries.

	 (b)	 covers an area within 20 km. around the 
wetlands.

	 (c)	 the area between two rivers is included.
	 (d)	 includes two hotspots and an animal corridor.
	 22.	 With reference to the Western Ghats, consider the 

following statements:
	 1.	 The Western Ghats comprises the territories 

of eight states.
	 2.	 Madhav Gadgil and Kasturirangan Committee 

was formed for the protection of Western 
Ghats.

	 3.	 The Kasturirangan committee has proposed to 
declare 50 percent of the total area of ​​the 
Western Ghats as Eco-Sensitive Zone (ESZ).

	 4.	 All the state governments of this region have 
endorsed the report of the Kasturirangan 
Committee.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 and 2 only
	 (b)	 1, 3 and 4 only
	 (c)	 2 only
	 (d)	 1, 2, 3 and 4 
	 23.	 With reference to the Great Indian Bustard (GIB), 

consider the following statements:
	 1.	 It is the state bird of Rajasthan.
	 2.	 A conservation breeding facility for this species 

has been established in the Desert National 
Park in Jodhpur.

	 3.	 This species is listed as critically endangered 
in the IUCN Red List.

	 4.	 This species is protected under Schedule 2 of 
the Wildlife Protection Act, 1972.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 4 only	 (b)	 1 and 3 only
	 (c)	 4 only 	 (d)	 1 and 2 only
	 24.	 With reference to the Inland Waterways Authority of 

India (IWAI), consider the following statements:
	 1.	 IWAI is a statutory body under the Ministry of  

Ports, Shipping and Waterways.
	 2.	 The headquarter of IWAI is situated in 

Prayagraj (Uttar Pradesh).
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 25-	varnZs'kh; tyekxZ ç.kkyh ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1.	 jk"Vªh; tyekxZ vf/fu;e] 2016 ds rgr ns'k ds 
111 tyekxks± dks jk"Vªh; tyekxZ ds :i esa fpfÉr 
fd;k x;k gSA

	 2.	 lfn;k&/qcjh tyekxZ dks Hkkjr esa jk"Vªh; tyekxZ 
la[;k&1 dk ntkZ fn;k x;k gSA 

	 3.	 orZeku esa jk"Vªh; tyekxZ la[;k&1 Hkkjr dk lcls 
yack jk"Vªh; tyekxZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	1, 2 vkSj 3

	 26-	^lfeV iQkWj MseksØslh* ds lanHkZ esa] fuEufyf•r dFkuksa 
ij fopkj dhft;s%

 	 1.	 o"kZ 2021 esa la;qDr jkT; vesfjdk }kjk ^lfeV 
iQkWj MseksØslh* dk vk;kstu fd;k x;kA

	 2.	 bl lfeV esa vesfjdh jk"Vªifr us ^çsflMsaf'k;y 
bfuf'k,fVo iQkWj MseksØsfVd fjU;wvy* dh LFkkiuk 
laca/h ?kks"k.kk dhA

	 3.	 yksdra=k dks e”kcwr djus vkSj fujadq'krk dk lkeuk 
djus ds fy;s bl igy dh 'kq#vkr dh xbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 	 (b)	dsoy 2

	 (c)	 dsoy 2 vkSj 3	 (d)	1, 2 vkSj 3

	 27-	^lfeV iQkWj MseksØslh* fuEufyf•r esa ls dkSu&ls Fkhe 
(Themes) ij vk/kfjr gS\

	 1-	 fujadq'krkokn ls cpko

	 2-	 Hkz"Vkpkj ls yM+uk 

	 3-	 ekuokf/dkjksa ds çfr lEeku c<+kuk

	 4-	 la?kh; <k¡ps dks lekIr djuk

	 5-	 yksd lsokvksa esa ikjnf'kZrk c<+kuk

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 dsoy 1] 3 vkSj 4	 (b)	dsoy 2] 3 vkSj 5

	 (c)	 dsoy 1] 2 vkSj 3	 (d)	1] 2] 3] 4 vkSj 5 

	 28-	gfjr gkbMªkstu ekbØksfxzM ifj;kstuk ds lanHkZ esa] 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bl vuwBh ifj;kstuk ds çk:i dks Hkkjr gsoh 
bysfDVªdYl fyfeVsM (BHEL) }kjk rS;kj fd;k 
x;k gSA

	 2-	 ns'k dh igyh xzhu gkbMªkstu ekbØksfxzM ifj;kstuk 
dh 'kq#vkr rsyaxkuk ds ;nkæh la;a=k esa dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	u rks 1] u gh 2

	 25.	 With reference to the inland waterways system, 
consider the following statements:

	 1.	 Under the National Waterways Act, 2016, 111 
waterways of the country have been identified 
as National Waterways.

	 2.	 The Sadiya-Dhubri waterway has been given 
the status of  National Waterway No-1 in India.

	 3.	 At present, National Waterway No-1 is the 
longest national waterway in India.

		  Which of the above statement(s) is/are correct?
	 (a)	 3 only 	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 26.	 With reference to ̒ Summit for Democracy’, consider 
the following statements:

	 1.	 The ʻSummit for Democracy’ was organized 
by the United States of America in the year 
2021.

	 2.	 In this summit, the US President announced 
the establishment of the ̒ Presidential Initiative 
for Democratic Renewal’.

	 3.	 This initiative was started to strengthening 
democracy and counter autocracy.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 27-	ʻSummit for Democracy’ is based on which of the 
following themes?

	 1.	 Defending Against Authoritarianism

	 2.	 Fighting Corruption

	 3.	 Promoting Respect for Human Rights 

	 4.	 Dismantling the Federal Structure

	 5.	 Increase transparency in Public Services

		  Select the correct answer using the code given below.
	 (a)	 1, 3 and 4 only	 (b)	 2, 3 and 5 only

	 (c)	 1, 2 and 3 only	 (d)	 1, 2, 3, 4 and 5

	 28.	 With reference to the Green Hydrogen Microgrid 
Project, consider the following statements:

	 1.	 This unique project has been designed by Bharat 
Heavy Electricals Limited (BHEL).

	 2.	 The country’s first green hydrogen microgrid project 
has been commissioned at the Yadadri plant in 
Telangana.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only 

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 29-	jk"Vªh; vkS"k/h; f'k{kk ,oa vuqla/ku laLFkku (NIPER) 
ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 NIPER iQkekZL;wfVdy lkbal esa igyk jk"Vªh; Lrj 
dk laLFkku gS] tks eksgkyh esa fLFkr gSA

	 2.	 ;g laLFkku NIPER vf/fu;e] 1998 ds çkoèkkuksa 
ds rgr LFkkfir fd;k x;k gSA

	 3.	 NIPER dks ^jk"Vªh; egÙo dk laLFkku* ?kksf"kr 
fd;k x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	 30-	gky gh esa ppkZ esa jgk ^FL-2027* gS%
	 (a)	 ,d u;k dksfoM Vhdk

	 (b)	 vkyw dh ,d fdLe

	 (c)	 uklk dk u;k mixzg

	 (d)	 ,d u;k ekuo jkscksV

 31- ikS/k fdLe vkSj Ñ"kd vf/dkj laj{k.k vf/fu;e] 2001 
ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ikS/ksa dh fdLeksa] Ñ"kdksa o ikni çtudksa ds 
vfèkdkjksa dh j{kk rFkk ikS/ksa dh ubZ fdLeksa ds 
fodkl ds fy;s bl vfèkfu;e dks Hkkjr ljdkj 
}kjk ykxw fd;k x;kA

	 2.	 	ikS/k fdLe vkSj Ñ"kd vf/dkj laj{k.k çkf/dj.k 
(PPVFRA) uks,Mk esa LFkkfir fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	 32-	fo'ks"k ØsfMV fyaDM dSfiVy lfClMh ;kstuk ( SCLCSS) 
fdl ea=kky; }kjk 'kq: dh xbZ\

	 (a)	 foÙk ea=kky; 

	 (b)	 oL=k ea=kky; 

	 (c)	 lw{e] y?kq vkSj eè;e m|e ea=kky;

	 (d)	 Je ,oa jks”kxkj ea=kky;

	 33-	fe'ku dksfdax dksy (MCC) ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 •ku ea=kky; }kjk ?kjsyw dksfdax dksy ds mRiknu 
vkSj mi;ksx dks c<+kok nsus gsrq ,d jksM eSi 
fodflr djus ds fy;s bl fe'ku dh LFkkiuk dh 
xbZA 

	 2.	 ?kjsyw dksfdax dksy U;wu jk• okyk dks;yk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1

	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1] u gh 2

	 29.	 With reference to the National Institute of 
Pharmaceutical Education and Research (NIPER), 
consider the following statements:

	 1.	 NIPER is the first national level institute in 
pharmaceutical science, which situated in 
Mohali.

	 2.	 This institute has been established under the 
provisions of NIPER Act, 1998.

	 3.	 NIPER has been declared as an ‘Institute of 
National Importance’.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 30.	 ʻFL-2027’ which is in the news recently is:
	 (a)	 A New Covid Vaccine
	 (b)	 A Variety of Potato
	 (c)	 NASA’s new satellite
	 (d)	 A New Human Robot
	 31.	 With reference to the Protection of Plant Varieties 

and Farmers Rights Act, 2001, consider the following 
statements:

	 1.	 This act was implemented by the Government 
of India for the protection of plant varieties, 
the rights of farmers and plant breeders and 
for the development of new varieties of plants.

	 2.	 Protection of Plant Varieties and Farmers’ 
Rights Authority (PPVFRA) has been 
established in Noida.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
 	 32.	 Special Credit Linked Capital Subsidy Scheme 

(SCLCSS) was launched by which ministry?
	 (a)	 Ministry of Finance
	 (b)	 Ministry of Textiles
	 (c)	 Ministry of Micro, Small and Medium 

Enterprises
	 (d)	 Ministry of Labour and Employment
	 33.	 With reference to Mission Coking Coal (MCC), 

consider the following statements:
	 1.	 This mission was set up by the Ministry of 

Mines to develop a road map to promote the 
production and use of domestic coking coal.

	 2.	 Domestic coking coal is low ash coal.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
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	 34-	lsaVªy cSad fMftVy djsalh (CBDC) ds lanHkZ esa fuEufyf•r 
esa ls dkSu&lk dFku lgh ugha gS\ 

	 (a)	 CBDC fiQ,V djsalh (Fiat Currency) dk ,d 
fMftVy :i gSA

	 (b)	 CBDC esa ysu&nsu ds fy;s CykWdpsu çkS|ksfxdh 
}kjk lefFkZr okWysV dk mi;ksx fd;k tk ldrk gSA

	 (c)	 fiQ,V euh (Fiat Money) ljdkj }kjk tkjh eqæk 
gS] tks lksus tSlh deksfMVh }kjk lefFkZr gSA 

	 (d)	 CBDC dsaæh; cSad }kjk tkjh fMftVy :i esa ,d 
dkuwuh fufonk gSA

35- fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 	̂ih,e fe=k* ikdZ dks lkoZtfud futh Hkkxhnkjh 
(PPP) eksM esa ,d fo'ks"k ç;kstu okgu (SPV) 
ds ”kfj;s fodflr fd;k tk,xk] ftldk LokfeRo 
dsoy jkT; ljdkj ds ikl gksxkA

	 2.	 Hkkjr ljdkj us o"kZ 2027&28 rd lkr ^ih,e 
fe=k* ikdks± dh LFkkiuk dks ea”kwjh çnku dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 36-	,Yxks VªsfMax (Algo Trading) dk vfHkçk; gS%
	 (a)	 ;g mUur ̂ xf.krh; ekWMy* ds mi;ksx ls rhoz xfr 

ls mRiUu lans'kksa dks lanfHkZr djrk gS] ftlesa O;kikj 
dk Lopkfyr fu"iknu 'kkfey gksrk gSA

	 (b)	 ;g mUur ^laçs"k.k ekWMy* ds mi;ksx ls fuEu xfr 
ls mRiUu lans'kksa dks lanfHkZr djrk gS] ftlesa O;kikj 
dk /hek fu"iknu 'kkfey gksrk gSA

	 (c)	 ;g mUur ̂ xfrdh; ekWMy* ds mi;ksx ls rhoz xfr 
ls mRiUu lans'kksa dks lanfHkZr djrk gS] ftlesa O;kikj 
dk fu"iknu 'kwU; gksrk gSA

	 (d)	 ;g mUur ^ykWftfLVd ekWMy* ds mi;ksx ls fuEu 
xfr ls mRiUu lans'kksa dks lanfHkZr djrk gS] ftlesa 
O;kikj dk fu"iknu vf/d gksrk gSA

 	37-	gky gh esa phu us ikfdLrku dks igyk Vkbi 054A/P 
fÚxsV (;q¼iksr) lkSaikA bl ;q¼iksr dks D;k uke fn;k 
x;k gS\

	 (a)	 ih,u,l xk”kh	 (b)	 ih,u,l rqxfjy
	 (c)	 ;qvku Dykl 	 (d)	 vkbZ,u,l vfj?kkV

	 38-	fuEufyf•r ;qXeksa ij fopkj dhft;s%
	 	(canjxkg) 		  (vofLFkr@ns'k)

	 1.	 Mqde	 &	 vkseku

	 2.	 lckax 	 &	 baMksusf'k;k

	 3.	 gacuVksVk	 &	 phu

	 4.	 Xoknj	 &	 ikfdLrku

	 	mi;qZDr esa ls dkSu&ls ;qXe lgh lqesfyr gS\
	 (a)	 dsoy 2 vkSj 4	 (b)	 dsoy 1 vkSj 3 
	 (c)	 dsoy 1, 2 vkSj 4 	 (d)	 1, 2, 3 vkSj 4

	 34.	 Which one of the following statements is not correct 
with reference to Central Bank Digital Currency 
(CBDC)?

	 (a)	 CBDC is a digital form of fiat currency.
	 (b)	 Wallets backed by blockchain technology can 

be used to transact in CBDC.
	 (c)	 Fiat money is a government issued currency 

backed by a commodity such as gold.
	 (d)	 CBDC is the legal tender issued by a central 

bank in a digital form.
	 35.	 Consider the following statements:
	 1.	 The ʻPM MITRA’ park will be developed in 

Public Private Partnership (PPP) mode through 
a Special Purpose Vehicle (SPV), which will 
be owned only by the state government.

	 2.	 The Government of India has approved the 
establishment of seven ̒ PM MITRA’ parks by 
the year 2027-28.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 36.	 Algo Trading means:
	 (a)	 It refers to orders generated at superfast speed 

by the use of advanced ̒ mathematical models’, 
that involve the automated execution of trade.

	 (b)	 It refers to orders generated at low speed using 
advanced ʻcommunication models’, which 
involve slow execution of trades.

	 (c)	 It refers to orders generated at a rapid pace 
using the advanced ʻdynamic model’, with 
zero trade execution.

	 (d)	 It refers to orders generated at a lower speed 
using an advanced ʻlogistic model’, with 
higher trade execution.

	 37.	 Recently China handed over the first Type 054A/P 
frigate (warship) to Pakistan. What is the name given 
to this warship?

	 (a)	 PNS Ghazi	 (b)	 PNS Tughril
	 (c)	 Yuan class	 (d)	 INS Arighat
	 38.	 Consider the following pairs:
		  (Port)		  (Located / Country)
	 1.	 Duqm 	 –	 Oman
	 2.	 Sabang	 –	 Indonesia
	 3.	 Hambantota	 –	 China
	 4.	 Gwadar	 –	 Pakistan
		  Which of the above pairs are correctly matched?
	 (a)	 2 and 4 only	 (b)	 1 and 3 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4 
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	 39-	HkwVku ds lokZsPp ukxfjd iqjLdkj ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 Hkkjr ds ç/kuea=kh dks HkwVku ds lokZsPp ukxfjd 
iqjLdkj] ̂ vkWMZj vkWiQ n Mªd X;kyiks* ls lEekfur 
fd;k x;k gSA

	 2.	 bl iqjLdkj dks ^uxnx isy th •ksjyks* ds uke 
ls Hkh tkuk tkrk gSA

	 3.	 ;g iqjLdkj jkW;y HkwVku vkehZ esa ;ksxnku nsus gsrq 
fn;k tkrk gSA

	 4.	 ^n vkWMZj vkWiQ n Mªd X;kyiks* dh LFkkiuk 
21 uoacj] 2010 dks dh xbZ FkhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 
	 (c)	 dsoy 1, 2 vkSj 4 	 (d)	 1, 2, 3 vkSj 4
	 40-	G20 ^Vªksbdk* ds lanHkZ esa] fuEufyf•r dFkuksa ij fopkj 

dhft;s%
	 1.	 ^Vªksbdk* G20 ds Hkhrj ,d lewg dks lanfHkZr 

djrk gSA

	 2.	 orZeku esa G20 ^Vªksbdk* esa baMksusf'k;k] Jhyadk 
vkSj Hkkjr 'kkfey gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2
	 41-	^jeuk dkyh eafnj* ds lanHkZ esa] fuEufyf•r dFkuksa ij 

fopkj dhft;s%
	 1.	 ;g eafnj ckaXykns'k esa fLFkr gSA

	 2.	 ;g eafnj nsoh dkyh dks lefiZr gSA

	 3.	 o"kZ 1971 esa vkWijs'ku lpZykbV ds nkSjku ikfdLrkuh 
lsuk }kjk bl eafnj dks u"V dj fn;k x;k FkkA 

	 4.	 iqufuZfeZr jeuk eafnj dk mn~?kkVu Hkkjr ds çèkkuea=kh 
}kjk fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1, 3 vkSj 4 
	 (c)	 dsoy 1, 2 vkSj 3 	 (d)	 1, 2, 3 vkSj 4
	 42-	gky gh esa dsaæh; eaf=keaMy us Hkkjr ljdkj vkSj fdl 

ns'k ds chp ^ikjLifjd dkuwuh lgk;rk laf/ (MLAT)* 
dks eatwjh nh gS\

	 (a)	 Jhyadk	 (b)	 ikfdLrku

	 (c)	 baXySaM	 (d)	 iksySaM 
	 43-	gky gh esa fdl daiuh@laLFkk us ̂ Hkkjrh; varfj{k vuqlaèkku 

laxBu* (ISRO) dk s vc rd dk lcls Hkkjh 
^lseh&Øk;kstsfud çksisysaV VSad* (SC120-LOX) çnku 
fd;k gS\

	 (a)	 fganqLrku ,;jksukWfVDl fyfeVsM (HAL)
	 (b)	 Hkkjr gsoh bysfDVªdYl fyfeVsM (BHEL)
	 (c)	 Hkkjrh; varfj{k HkkSfrdh dsaæ (ICSP)

	 (d)	 foØe lkjkHkkbZ varfj{k dsaæ (VSSC)

	 39.	 With reference to the highest civilian award of 
Bhutan, consider the following statements:

	 1.	 The Prime Minister of  India has been awarded 
the ‘Order of the Druk Gyalpo’, the highest 
civilian award of Bhutan.

	 2.	 This award is also known as ‘Ngadag Pel gi 
Khorlo’.

	 3.	 This award is given for contribution to the 
Royal Bhutan Army.

	 4.	 The ‘Order of the Druk Gyalpo’ was established 
on November 21, 2010.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4
	 40.	 With reference to G20 ‘Troika’, consider the 

following statements:
	 1.	 ‘Troika’ refers to the grouping within the G20.
	 2.	 In the present, G20 ‘Troika’ includes Indonesia, 

Sri Lanka and India.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 41.	 With reference to ‘Ramana Kali Mandir’, consider 

the following statements:
	 1.	 This temple is situated in Bangladesh.
	 2.	 This temple is dedicated to Goddess Kali.
	 3.	 This temple was destroyed by the Pakistani 

Army during Operation Searchlight in the year 
1971.

	 4.	 The renovated Ramana Temple was inaugurated 
by the Prime Minister of India.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 1, 3 and 4 only
	 (c)	 1, 2 and 3 only	 (d)	 1, 2, 3 and 4
	 42.	 Recently the Union Cabinet has approved the ‘Mutual 

Legal Assistance Treaty (MLAT)’ between the 
Government of India and which country?

	 (a)	 Sri Lanka	 (b)	 Pakistan
	 (c)	 England	 (d)	 Poland
	 43.	 Which company/institution has provided the heaviest 

‘Semi-Cryogenic Propellant Tank’ (SC120-LOX) to 
‘Indian Space Research Organization’ (ISRO), 
recently?

	 (a)	 Hindustan Aeronautics Limited (HAL)
	 (b)	 Bharat Heavy Electricals Limited (BHEL)
	 (c)	 Indian Center for Space Physics (ICSP)
	 (d)	 Vikram Sarabhai Space Center (VSSC)
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 	44-	^bafM;u fMtVZ dSV* ds lanHkZ esa] fuEufyf•r esa ls dkSu&lk 
dFku lgh ugha gS\

	 (a)	 bls ,f'k;kfVd okbYM dSV ;k ,f'k;u LVsih okbYM 
dSV ds uke ls Hkh tkuk tkrk gSA

	 (b)	 ^isap Vkbxj fj”koZ* esa igyh ckj ,d ^bafM;u 
fMtVZ dSV* dks ns•k x;kA

	 (c)	 bl çtkfr dks IUCN dh jsM fyLV esa ladV eqDr 
Js.kh esa j•k x;k gSA

	 (d)	 bl dSV dh iztkfr if'peh Hkkjr ds 'kq"d vkSj 
v¼Z&'kq"d {ks=kksa esa ikbZ tkrh gSA

	 45-	gky gh esa lekpkjksa esa jgk 'kCn ̂ dkbgkbRL;qdk lfpdk#e 
(Kyhytysuka Sachicarum)* tks lanfHkZr djrk gS%

	 (a)	 ,d çdkj ds Mk;uklksj dk thok'e

	 (b)	 ,d u, leqæh ljhl`i 

	 (c)	 pkoy dh ,d ubZ fdLe

	 (d)	 ,d laØked jksx 

	 46-	çkstsDV jh&gSc (RE-HAB) ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g ekuo&gkFkh la?k"kZ dks de djus ds fy;s 
^eèkqeD•h&ckM+* cukus dh ,d vuwBh ifj;kstuk 
gSA 

	 2.	 ;g ifj;kstuk •k| çlaLdj.k m|ksx ea=kky; dh 
,d igy gSA

	 3.		 ;g •knh vkSj xzkeks|ksx vk;ksx (KVIC) ds jk"Vªh; 
'kgn fe'ku dk ,d mi&fe'ku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 3	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1	 (d)	 1, 2 vkSj 3

	 47-	vksfeØkWu (Omicron) ok;jl ds lanHkZ esa] fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g ok;jl loZçFke nf{k.k vesfjdk esa ik;k x;k FkkA

	 2.	 fo'o LokLF; laxBu (WHO) us dksfoM&19 ds 
B.1.1.529 LVªsu dks ̂ oSfj,aVl vkWiQ daluZ* (VOC) 
ds :i esa igpku dhA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	 48-	^besftax ,Dl&js iksykfjesVªh ,DlIyksjj* (IXPE) ds lanHkZ 
esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 IXPE os/'kkyk uklk vkSj izQk¡l dh varfj{k ,tsalh 
dk la;qDr ç;kl gSA

	 2.	 ;g fe'ku lw;Z dh lcls ckgjh ijr ^dksjksuk* 
(Corona) ds vè;;u gsrq 'kq: fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

 	44.	 Which one of the following statements is not correct 
with reference to the ‘Indian Desert Cat’?

	 (a)	 It is also known as Asiatic wildcat or Asian 
steppe wildcat.

	 (b)	 An ‘Indian Desert Cat’ sighted for the first time 
in ‘Pench Tiger Reserve’.

	 (c)	 This species is listed as Least Concern on the 
IUCN Red List.

	 (d)	 This cat’s species is found in the arid and semi-
arid regions of western India.

	 45.	 The term ‘Kyhytysuka Sachicarum’, which has been 
in the news recently, refers to:

	 (a)	 fossil of a kind of dinosaurs

	 (b)	 a new marine reptile

	 (c)	 a new variety of rice

	 (d)	 an infectious disease

	 46.	​​ With reference to Project RE-HAB, consider the 
following statements:

	 1.	 It is a unique project of creating ‘Bee-fences’¸ 
to mitigate human–elephant conflict.

	 2.	 The project is an initiative of the Ministry of 
Food Processing Industries.

	 3.	 It is a sub-mission of the National Honey 
Mission of Khadi and Village Industries 
Commission (KVIC).

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only

	 (c)	 1 only 	 (d)	 1, 2 and 3

	 47.	 With reference to the Omicron virus, consider the 
following statements:

	 1.	 This virus was first found in South America.

	 2.	 The World Health Organization (WHO) has 
identified the B.1.1.529 strain of COVID-19 
as a ‘Variant of Concern’ (VOC).

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 48.	 With reference to ‘Imaging X-ray Polarimetry 
Explorer’ (IXPE), consider the following statements:

	 1.	 The IXPE observatory is a joint effort of  
NASA and the French Space Agency.

	 2.	 This mission has been started to study the 
outermost layer of the Sun’s ‘Corona’.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 49-	^ystj dE;qfuds'kal fjys fMekWULVªs'ku* (LCRD) ds lanHkZ 
esa] fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1.	 ;g ubZ lapkj ç.kkyh bljks (ISRO) }kjk 'kq: dh 
xbZ gSA

	 2.	 ;g uklk (NASA) dh ,dek=k ystj lapkj ç.kkyh 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2 

	 (c)	 1 vkSj 2 nksuksa 	 (d)	 u rks 1] u gh 2

	 50.	ikspeiYyh ds lanHkZ esa] fuEufyf•r esa ls dkSu&lk dFku 
lgh ugha gS\

	 (a)	 la;qDr jk"Vª fo'o i;ZVu laxBu (UNWTO) us 
bls loZJs"B i;ZVu xk¡oksa esa ls ,d ds :i esa 
pquk gSA

	 (b)	 	ikspeiYyh] vka/z çns'k ds fpÙkwj f”kys dk ,d 
dLck gSA

	 (c)	 	vkpk;Z fouksck Hkkos }kjk ;gk¡ ls Hkwnku vkanksyu 
dh 'kq#vkr dh xbZ FkhA

	 (d)	 	ikspeiYyh dh bdr (Ikat) 'kSyh dks o"kZ 2004 
esa ,d HkkSxksfyd ladsrd (GI Tag) ds :i esa 
ntZ fd;k x;k gSA

	 51.	fuEufyf•r dFkuksa ij fopkj dhft;s%
	 1-	 15 uoacj dks ^tutkrh; xkSjo fnol* ds :i esa 

?kksf"kr fd;k x;k gSA

	 2-	 15 uoacj dks fcjlk eqaMk dh t;arh eukbZ tkrh gSA

	 3-	 15 uoacj dks >kj•aM LFkkiuk fnol euk;k tkrk gSA

	 4-	 15 uoacj dks fcjlk eqaMk dh e`R;q gks xbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1] 2 vkSj 3	 (b)	 dsoy 2] 3 vkSj 4

	 (c)	 dsoy 1 vkSj 4	 (d)	 1] 2] 3 vkSj 4

	 52.	,d gh eap ij unh usfoxs'ku vkSj cqfu;knh <k¡ps dh 
tkudkjh ladfyr djus ds fy;s fdl iksVZy dh 'kq#vkr 
dh xbZ gS\

	 (a)	 ty	 (b)	 ikuh

	 (c)	 okVj	 (d)	 unh

	 53.	”khjks ctV izkÑfrd [ksrh dk fodkl fuEu esa ls fdlds 
}kjk fd;k x;k\

	 (a)	 ,e-,l- LokehukFku	 (b)	 oxhZ”k oqQfj;u

	 (c)	 lqHkk"k ikysdj	 (d)	 ukWeZu cksjykWx

	 54.	izkÑfrd Ñf"k ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g jlk;u eqDr vkSj i'kqèku vkèkkfjr Ñf"k gSA

	 2.	 blesa thokèr vkSj chtkèr dk iz;ksx fd;k tkrk gSA

	 3.	 ;g xgu flapkbZ vkSj xgjh tqrkbZ ij fuHkZj djrk gSA

	 4.	 Ñf"k tSofofoèkrk ds laj{k.k dks lqfuf'pr djrk gSA

	 49.	 With reference to the ‘Laser Communications Relay 
Demonstration’ (LCRD), consider the following 
statements:

	 1.	 This new communication system has been 
launched by ISRO.

	 2.	 It is NASA’s only laser communication system.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only 
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 50.	 Which of the following statements is not correct with 

reference to Pochampally?
	 (a)	 It has been selected as one of the best tourism 

villages by the United Nations World Tourism 
Organization (UNWTO).

	 (b)	 Pochampally is a town in Chittoor district of 
Andhra Pradesh.

	 (c)	 The Bhoodan movement was started from here 
by Acharya Vinoba Bhave.

	 (d)	 The Ikat style of Pochampally has been 
recorded as a Geographical Indication (GI Tag) 
in 2004.

	 51.	 Consider the following statements:
	 1.	 15 November has been declared as  ‘Janjatiya 

Gaurav Divas’:
	 2.	 Birsa Munda’s birth anniversary is celebrated 

on 15 November.
	 3.	 Jharkhand Foundation Day is celebrated on 

15 November.
	 4.	 Birsa Munda died on 15 November.
		  Which of the above statement(s) is/are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2, 3 and 4 only
	 (c)	 1 and 4 only	 (d)	 1, 2, 3 and 4
	 52.	 Which portal has been launched to compile river 

navigation and infrastructure information on a single 
platform?

	 (a)	 JAL	 (b)	 PANI
	 (c)	 WATER 	 (d)	 RIVER
	 53.	 Zero Budget Natural Farming was developed by 

which of the following?
	 (a)	 M.S. Swaminathan 	 (b)	 Verghese Kurien
	 (c)	 Subhash Palekar 	 (d)	 Norman Borlaug
	 54.	 With reference to Natural Farming, consider the 

following statements:
	 1.	 It is chemical free and livestock based 

agriculture.
	 2.	 Jeevamrut and Beejamrut are used in this.
	 3.	 It depends on intensive irrigation and deep 

tillage.
	 4.	 Agriculture ensures the conservation of 

biodiversity.
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	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1, 2, 3 vkSj 4	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 4 	 (d)	 dsoy 1, 2 vkSj 4

	 55.	jk"Vªh; lrr Ñf"k fe'ku ds rgr ^fe'ku vkWxsZfud oSY;w 
psu MsoyiesaV* ;kstuk fuEufyf[kr esa ls fdl izknsf'kd 
{ks=k ds fy;s vkjaHk dh xbZ gS\

	 (a)	 mÙkj&if'peh {ks=k

	 (b)	 ioZrh; {ks=k

	 (c)	 iBkjh {ks=k

	 (d)	 mÙkj&iwohZ {ks=k

	 56.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1.	 Hkkjrh; varnsZ'kh; tyekxZ izkfèkdj.k & gSnjkckn

	 2.	 Hkkjrh; jk"Vªh; egklkxj lwpuk lsok dsanz & uks,Mk

	 	mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 57.	vkfFkZd ekeyksa dh eaf=keaMyh; lfefr us ^vks&LekVZ* 
;kstuk dks dc rd ds fy;s tkjh j[kus dh ea”kwjh nh gS\

	 (a)	 2020	 (b)	 2026
	 (c)	 2022	 (d)	 2024

	 58.	vks&LekVZ esa 'kkfey mi&;kstuk dkSu&lh ugha gS\

	 (a)	 leqnzh voyksdu usVodZ

	 (b)	 leqnzh tho lalkèku vkSj ikfjfLFkfrdh

	 (c)	 rVh; vuqlaèkku 

	 (d)	 jk"Vªh; Kku usVodZ

	 59.	fo'o vlekurk fjiksVZ&2022 fuEufyf[kr esa ls fdl laLFkk 
us tkjh dh gS\

	 (a)	 oYMZ bdkWukfed iQksje

	 (b)	 oYMZ bfuDosfyVh ySc

	 (c)	 ;wukbVsM us'kal MsoyiesaV izksxzke

	 (d)	 mi;qZDr esa ls dksbZ ugha

	 60.	fo'o vlekurk fjiksVZ&2022 esa Hkkjr ls lacaf/r dFkuksa 
ij fopkj dhft;s%

	 1.	 Hkkjr vR;fèkd vleku ns'k gSA

	 2.	 Hkkjr ,d U;wu dkcZu mRltZd ns'k gSA

	 3.	 Hkkjr esa efgyk Je vk; dk fgLlk nqfu;k esa lcls 
vfèkd gSA

	 4.	 Hkkjr esa ykxw dh xbZ mnkjhdj.k uhfr;ksa us vk; 
,oa èku vlekurk esa lokZf/d o`f¼ esa ;ksxnku 
fn;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 1, 2, 3 vkSj  4	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 1, 2 vkSj 4

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 and 4 	 (b)	 1, 2 and 3 only
	 (c)	 2, 3 and 4 only 	 (d)	 1, 2 and 4 only
	 55.	 Under the National Mission on Sustainable Agriculture, 

'Mission Organic Value Chain Development' scheme 
has been started for which of the following regional 
areas?

	 (a)	 North-Western region 
	 (b)	 Hilly region
	 (c)	 Plateau region
	 (d)	 North-Eastern region
	 56.	 Consider the following pairs:
	 1.	 Inland Waterways Authority of India-

Hyderabad
	 2.	 Indian National Centre for Ocean Information 

Services - Noida
		  Which of the above pairs is/are correctly matched?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 57.	 The Cabinet Committee on Economic Affairs has 

approved the continuation of the 'O-SMART' scheme 
for how long?

	 (a)	 2020 	 (b)	 2026
	 (c)	 2022 	 (d)	 2024
	 58.	 Which sub-scheme is not included in O-SMART?
	 (a)	 Ocean Observation Network
	 (b)	 Marine Living Resources and Ecology
	 (c)	 Coastal Research 
	 (d)	 National Knowledge Network
	 59.	 World Inequality Report-2022 has been released by 

which of the following organizations?
	 (a)	 World Economic Forum
	 (b)	 World Inequality Lab
	 (c)	 United Nations Development Programme
	 (d)	 None of the above
	 60.	 Consider the statements related to India in the World 

Inequality Report-2022:
	 1.	 India is a highly unequal country.
	 2.	 India is a low carbon emitting country.
	 3.	 The share of female labour income in India is 

the highest in the world.
	 4.	 The liberalization policies implemented in 

India have contributed to the most extreme 
increase in income and wealth inequality.

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 and 4 	 (b)	 1, 2 and 3 only
	 (c)	 1 and 2 only 	 (d)	 1, 2 and 4 only
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	 61.	oSf'od iks"k.k fjiksVZ] 2021 ls lacaf/r fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 Hkkjr us ,uhfe;k vkSj pkbYMgqM os¯LVx ij Hkkjh 
izxfr dh gSA

	 2.	 Hkkjr 'kh?kz gh LVafVax ds y{; dks izkIr dj ysxkA

	 3.	 Hkkjr pkbYMgqM vksojosV ds y{; dks izkIr djus 
okyk gSA

	 4.	 dksfoM&19 egkekjh oSf'od iks"k.k y{;ksa dks izkIr 
djus dh fn'kk esa ckèkd ugha gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2, 3 vkSj 4	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 dsoy 1, 2 vkSj 3

	 62.	oSf'od iks"k.k y{;] 2025 ls lacaf/r fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 cky fucZyrk@nqcykiu ds ekeyksa dks 5% ls de 
cuk, j[kukA

	 2.	 f'k'kq ds tUe ds 'kq#vkrh 6 eghuksa esa vuU; 
Lruiku dh nj dks de&ls&de 50% rd c<+kukA

	 3.	 19–50 o"kZ dh vk;q dh efgykvksa esa ,uhfe;k ds 
ekeyksa esa 50%  dh dehA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 3

	 63.	eysfj;k ls lacaf/r fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;g IykTek sfM;e ijthfo;ks a (Plasmodium 

Parasites) ds dkj.k gksus okyk ePNj tfur jksx gSA

	 2.	 ;g ijthoh laØfer eknk ,ukfiQyht ePNj ds 
dkVus ls iQSyrk gSA

	 3.	 ;g jksx eq[; :i esa 'khr dfVcaèkh; vkSj 'khrks".k 
dfVcaèkh; {ks=kksa esa ik;k tkrk gSA

	 4.	 osDVj fu;a=k.k eysfj;k lapj.k dks jksdus vkSj de 
djus dk eq[; rjhdk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2, 3 vkSj 4	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 4	 (d)	 dsoy 1, 2 vkSj 4

	 64.	eysfj;k ds lokZf/d ekeys vkSj mlls gksus okyh ekSrsa 
fuEufyf[kr esa ls fdl {ks=k ls lacaf/r gSa\

	 (a)	 mi&lgkjk vÚhdk	 (b)	 if'peh ;wjksi

	 (c)	 nf{k.kh iwohZ ,f'k;k	 (d)	 nf{k.kh vesfjdk

	 65.	Hkkjr esa eysfj;k mUewyu ds fy;s fd;s x, iz;klksa ls 
lacaf/r fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 o"kZ 2018 esa fo'o LokLF; laxBu vkSj vkjch,e 
ikVZujf'ki us eysfj;k dks lekIr djus ds fy;s 
Hkkjr lesr 11 ns'kksa esa ¶gkbZ cMsZu Vw gkbZ bEiSDV¸ 
(HBHI) dh 'kq#vkr dh FkhA

	 61.	 With reference to the Global Nutrition Report, 2021, 
consider the following statements:

	 1.		 India has made huge progress on anemia and 
childhood wasting.

	 2.	 India will soon achieve the target of stunting.

	 3.	 India is about to achieve the goal of Childhood 
Overweight.

	 4.	 The COVID-19 pandemic is not a deterrent in 
achieving the Global Nutrition Goals.

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 and 4 	 (b)	 2 and 3 only

	 (c)	 1 and 2 only 	 (d)	 1, 2 and 3 only

	 62.	 With reference to the Global Nutrition Goal, 2025, 
consider the following statements:

	 1.	 Maintaining less than 5% of cases of child 
infirmity/thinness.

	 2.	 Increase the rate of exclusive breastfeeding in 
the first 6 months up to at least 50%.

	 3.	 50% reduction in anemia cases in women aged 
19–50.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 3 	 (b)	 1 and 2 only

	 (c)	 2 and 3 only 	 (d)	 1 and 3 only

	 63.	 With reference to Malaria, consider the following 
statements:

	 1.	 It is a mosquito-borne disease caused by 
Plasmodium parasites.

	 2.	 This parasite is transmitted through the bite of 
an infected female Anopheles mosquito.

	 3.	 This disease is mainly found in cold tropical 
and temperate regions.

	 4.	 Vector control is the main method of preventing 
and reducing malaria transmission.

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 and 4 	 (b)	 1, 2 and 3 only

	 (c)	 2, 3 and 4 only 	 (d)	 1, 2 and 4 only

	 64.	 In which of the following areas the highest number 
of malaria cases and deaths are found?

	 (a)	 Sub-Saharan Africa 	 (b)	 Western Europe

	 (c)	 South East Asia 	 (d)	 South America

	 65.	 With reference to the efforts made to eradicate malaria 
in India, consider the following statements:

	 1.	 In the year 2018, the World Health Organization 
and the RBM Partnership started “High Burden 
to High Impact” (HBHI) in 11 countries 
including India to eliminate malaria.
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	 2.	 tqykbZ 2019 esa Hkkjr ds pkj jkT;ksa& if'pe caxky] 
>kj[kaM] NÙkhlx<+ vkSj eè; izns'k esa ^gkbZ cMZu 
Vw gkbZ bEiSDV* dh 'kq#vkr dh xbZA

	 3.	 Hkkjr ljdkj }kjk ^nh?kZdkyuh dhVuk'kd ;qDr 
ePNjnkfu;ksa* (,y-,y-vkbZ-,u-) ds forj.k }kjk 
iwoksZÙkj ds lkr jkT;ksa lfgr NÙkhlx<+] >kj[kaM] 
eè; izns'k vkSj vksfM'kk tSls jkT;ksa esa eysfj;k ds 
izlkj esa i;kZIr deh vkbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 1 vkSj 2
	 66.	 fnO;kax tu ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 la;qDr jk"Vª }kjk 3 fnlacj dks ^fo'o fnO;kaxrk 

fnol* ds :i esa fpfÉr fd;k x;k gSA

	 2.	 fnO;kaxtu vfèkdkj vfèkfu;e] 2016 ds rgr 
fodykaxrk ds izdkj 7 ls c<+kdj 25 dj fn;s 
x, gSaA

	 3.	 lkekftd U;k; vkSj vfèkdkfjrk ea=kky; ds rgr 
^fnO;kaxtu l'kDrhdj.k foHkkx* }kjk lqxE; Hkkjr 
vfHk;ku dk;kZfUor fd;k tk jgk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 3
	 67.	ikbdk fonzksg] tks 1817 bZ- esa mM+hlk esa gqvk Fkk] mldk 

usr`Ro fuEufyf[kr esa ls fdlus fd;k Fkk\
	 (a)	 txcaèkq fo|kèkj	 (b)	 eqoqQan nso
	 (c)	 fcjlk eqaMk	 (d)	 xkseèkj oqQ¡oj
	 68.	;wusLdks dh ̂ ekuork dh vewrZ lkaLÑfrd fojklr* (ICH) 

dh izfrfuf/ lwph esa 2021 esa Hkkjr ds fdl R;ksgkj dks 
'kkfey fd;k x;k gS\

	 (a)	 gksyh	 (b)	 fnokyh
	 (c)	 nqxkZ iwtk	 (d)	 egkf'ko jkf=k
	 69.	^l'kL=k cy (fo'ks"k 'kfDr;k¡) vf/fu;e] 1958* ;k 

^viQLik* ls lacaf/r fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 uxkySaM ds eq[;ea=kh us bls uxkySaM ls lekIr djus 

dh ekax dh gSA

	 2.	 ;g ef.kiqj ds laiw.kZ Hkw&Hkkx ij ykxw gSA

	 3.	 ;g vle vkSj uxkySaM ds laiw.kZ {ks=k esa ykxw gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2 vkSj 3	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 3
	 70.	xszVj fVijkySaM ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 

dhft;s%
	 1.	 f=kiqjk ds vkfnokfl;ksa }kjk i`Fkd jkT; dh ekaxA

	 2.		 blesa f=kiqjk ds vkfnoklh {ks=kksa ds lkFk&lkFk vle] 
fe”kksje vkSj ckaXykns'k ds f=kiqfj;ksa dks Hkh 'kkfey 
djus dh ekax dh xbZ gSA

	 2.	 In July 2019, 'High Burden to High Impact' 
was launched in four states of India – West 
Bengal, Jharkhand, Chhattisgarh and Madhya 
Pradesh.

	 3.	 The distribution of ‘long lasting insecticidal 
nets (LLIN)’ by the Government of India has 
significantly reduced the prevalence of malaria 
in seven North Eastern states including 
Chhattisgarh, Jharkhand, Madhya Pradesh and 
Odisha.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 3 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1 and 2 only
	 66.	 With reference to the Persons with Disabilities  

(Divyangjan), consider the following statements:
	 1.	 December 3 has been marked as 'World 

Disability Day' by the United Nations.
	 2.	 The types of disability have been increased 

from 7 to 25 under the Rights of Persons with 
Disabilities Act, 2016.

	 3.	 The Accessible India Campaign is being 
implemented by the  Depar tment  of 
Empowerment of Persons with Disabilities 
under the Ministry of Social Justice and 
Empowerment.

		  Which of the above statements are correct?
	 (a)	 1, 2 and 3 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only 	 (d)	 1 and 3 only
	 67.	 Who among the following led the Paika Rebellion, 

which took place in Orissa in 1817?
	 (a)	 Jagabandhu Vidyadhar 	(b)	Mukunda Dev
	 (c)	 Birsa Munda 	 (d)	 Gomdhar Kunwar
	 68.	 Which festival of India has been included in 

UNESCO's representative list of 'Intangible Cultural 
Heritage of Humanity' (ICH) in 2021?

	 (a)	 Holi 	 (b)	 Diwali
	 (c)	 Durga Puja 	 (d)	 Mahashiv Ratri
	 69.	 With reference to the 'Armed Forces (Special Powers) 

Act, 1958' or 'AFSPA', consider the following 
statements:

	 1.	 The Chief Minister of  Nagaland has demanded 
an end to it from Nagaland.

	 2.	 It is applicable to the entire territory of Manipur.
	 3.	 It is applicable to the entire area of Assam and 

Nagaland.
		  Which of the above statements are correct?
	 (a)	 1, 2 and 3 	 (b)	 1 and 2 only
	 (c)	 2 and 3 only 	 (d)	 1 and 3 only
	 70.	 With reference to Greater Tipraland, consider the 

following statements:
	 1.	 Demand for a separate state by the tribals of 

Tripura.
	 2.	 It has sought to include the tribal areas of 

Tripura as well as the Tripuris of Assam, 
Mizoram and Bangladesh.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 71.	Hkkjr ds lafo/ku ds fdl vuqPNsn ds rgr laln dkuwu 
cukdj] ,sls fu;eksa vkSj 'krks± ij (tks og Bhd le>s) 
la?k esa u, jkT;ksa dk izos'k ;k mudh LFkkiuk dj ldrh gS\

	 (a)	 vuqPNsn 1	 (b)	 vuqPNsn 2

	 (c)	 vuqPNsn 3	 (d)	 vuqPNsn 4

	 72.	pkj /ke ifj;kstuk }kjk fuEufyf[kr esa ls fdls ugha 
tksM+uk gS\

	 (a)	 xaxks=kh	 (b)	 ;equks=kh

	 (c)	 dsnkjukFk	 (d)	 oS".kks nsoh

	 73.	vkink izca/u ij fo'o dkaxzsl (WCDM) fuEufyf[kr esa 
ls fdldh ,d igy gS] tks vkink tksf[ke izca/u ds 
fofHkUu pqukSrhiw.kZ eqíksa ij ppkZ djus ds fy;s nqfu;k Hkj 
ds 'kks/dÙkkZvksa] uhfr& fuekZrkvksa vkSj fpfdRldksa dks ,d 
gh eap ij ykus dk dk;Z djrh gS\

	 (a)	 fMtkLVj eSustesaV bfuf'k,fVOl ,aM dUots±l lkslk;Vh

	 (b)	 us'kuy bafLVV~;wV vkWiQ fMtkLVj eSustesaV

	 (c)	 us'kuy fMtkLVj eSustesaV vkWFkkfjVh

	 (d)	 vkWy bafM;k fMtkLVj fefVxs'ku bafLVV~;wV

	 74.	 fuEufyf[kr esa ls dkSu lqesfyr ugha gS\
	 (a)	 gfjdsu & mÙkjh vVykafVd egklkxj

 	 (b)	 VkbiwQu & if'peh iz'kkar ,oa nf{k.k phu lkxj

	 (c)	 pØokr & fgan egklkxj

	 (d)	 foyh&foyht & nf{k.k vVykafVd egklkxj

	 75.	gky gh esa n xzsV ekmaVsu&lse: Tokykeq[kh esa foLiQksV 
gqvk gSA ;g dgk¡ fLFkr gS\

	 (a)	 FkkbZySaM	 (b)	 tkok

	 (c)	 tkiku	 (d)	 fiQyhihal

	 76.	pkS/jh pj.k flag ls lacaf/r fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 buds tUefnol 23 fnlacj dks jk"Vªh; fdlku 
fnol ds :i esa euk;k tkrk gSA

	 2.	 mUgksaus Hkkjr ds izèkkuea=kh in ds vykok mÙkj izns'k 
ds eq[;ea=kh dk Hkh in laHkkyk FkkA

	 3.	 mUgsa ^pSafi;u vkWiQ bafM;k”k ihtsaV~l* miuke fn;k 
x;kA

	 4.	 mUgksaus Hkwfe O;oLFkk vfèkfu;e] 1960 dks ykus esa 
egÙoiw.kZ Hkwfedk fuHkkbZA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 1, 2, 3 vkSj 4

	 (b)	 dsoy 1, 2 vkSj 3

	 (c)	 dsoy 2, 3 vkSj 4

	 (d)	 dsoy 1, 3 vkSj 4

		  Which of the statements given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 71.	 Under which Article of the Constitution of India, 

Parliament can by law, on such terms and conditions 
(as it thinks fit) admit or establish new states in the 
Union?

	 (a)	 Article 1 	 (b)	 Article 2
	 (c)	 Article 3 	 (d)	 Article 4
	 72.	 Which of the following is not to be connected by the 

Char Dham project?
	 (a)	 Gangotri 	 (b)	 Yamunotri
	 (c)	 Kedarnath 	 (d)	 Vaishno Devi
	 73.	 World Congress on Disaster Management (WCDM) 

is an initiative of which of the following, which brings 
together researchers, policy exporters and practitioners 
from across the world to discuss various challenging 
issues of disaster risk management?

	 (a)	 Disaster Management Initiatives and 
Convergence Society

	 (b)	 National Institute of Disaster Management
	 (c)	 National Disaster Management Authority
	 (d)	 All India Disaster Mitigation Institute
	 74.	 Which of the following is not correctly matched?
	 (a)	 Hurricane - North Atlantic Ocean
 	 (b)	 Typhoon - West Pacific and South China Sea
	 (c)	 Cyclone - Indian Ocean
	 (d)	 Willy-Willies – South Atlantic Ocean
	 75.	 Recently The Great Mountain - Semeru Volcano has 

erupted. Where is it located?
	 (a)	 Thailand 	 (b)	 Java
	 (c)	 Japan 	 (d)	 Philippines
	 76.	 With reference to Chaudhary Charan Singh, consider 

the following statements:
	 1.	 His birthday 23rd December is celebrated as 

National Farmers Day.
	 2.	 Apart from the post of Prime Minister of India, 

he also held the post of Chief Minister of Uttar 
Pradesh.

	 3.	 He was given the nickname 'Champion of 
India’s Peasants'.

	 4.	 He played an important role in bringing the 
Land Settlement Act, 1960.

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 and 4
	 (b)	 1, 2 and 3 only
	 (c)	 2, 3 and 4 only
	 (d)	 1, 3 and 4 only
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	 77.	^fejkcy cgusa* ftuds lEEkku esa ^varjkZ"Vªh; efgyk fgalk 
mUewyu fnol* euk;k tkrk gS] fdl ns'k dh Fkha\

	 (a)	 Hkkjr	 (b)	 ckaXykns'k

	 (c)	 Mksfefudu x.kjkT;	 (d)	 D;wck

	 78.	Hkkjr ljdkj us efgykvksa ds fy;s fookg dh dkuwuh vk;q 
c<+kdj fdruh fu/kZfjr dh gS\

	 (a)	 20 o"kZ	 (b)	 18 o"kZ

	 (c)	 21 o"kZ	 (d)	 23 o"kZ

	 79.	uhfr vk;ksx }kjk ^iks"k.k Kku fMftVy dks"k* fuEufyf[kr 
esa ls fdldh lk>snkjh esa vkjaHk fd;k x;k gS\

	 1.	 fcy vkSj esfyaMk xsV~l iQkmaMs'ku

	 2.	 v'kksdk ;wfuoflZVh

	 3.	 ,feVh ;wfuoflZVh

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 3

	 80.	^Lons'k ifj;kstuk* dks fodflr djus dk dk;Z fuEufyf[kr 
esa ls fdl laLFkk us fd;k gS\

	 (a)	 tSo izkS|ksfxdh foHkkx&us'kuy czsu fjlpZ lsaVj

	 (b)	 j{kk mRiknu foHkkx

	 (c)	 nwjlapkj foHkkx

	 (d)	 mi;qZDr lHkh

	 81.	^varjkZ"Vªh; efgyk fgalk mUewyu fnol* fo'o Hkj esa fdl 
fnu euk;k tkrk gS\

	 (a)	 8 ekpZ	 (b)	 25 uoacj

	 (c)	 5 twu	 (d)	 22 vizSy

	 82.	 laLÑfr ea=kky; us ̂ dyk laLÑfr fodkl ;kstuk* ds rgr 
fuEufyf[kr esa ls fdl dyk vkSj laLÑfr ds fodkl ds 
fy;s foÙkh; lgk;rk gsrq ,d ;kstuk 'kq: dh gS\

	 (a)	 eSfFkyh dyk ,oa laLÑfr

	 (b)	 frCcrh@ckS¼ laLÑfr vkSj dyk

	 (c)	 iwoksZÙkj dyk ,oa laLÑfr

	 (d)	 nf{k.k Hkkjrh; dyk ,oa laLÑfr

	 83.	 Hkkjrh; jsyos }kjk O;kid i;ZVu laHkkoukvksa ds nksgu ds 
fy;s ubZ ;kstuk ^Hkkjr xkSjo* dh ?kks"k.kk fdl vuqHkkx 
ds rgr dh xbZ gS\

	 (a)	 i;ZVu vuqHkkx	 (b)	 ;k=kh vuqHkkx

	 (c)	 eky vuqHkkx	 (d)	 mi;qZDr lHkh

	 84.	 Hkkjrh; iqjkrÙo losZ{k.k us eè; Hkkjr esa rkez&ik"kkf.kd 
laLÑfr ls lacaf/r eè; izns'k ds fdu LFkyksa dh [kqnkbZ 
dh\

	 1.	 ,sj.k (lkxj)	

	 2.	 rsoj (tcyiqj)

	 	dwV%
	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 77.	 'Mirabal Sisters' in whose honor 'International Day 
for the Elimination of Violence against Women' is 
celebrated, belonged to which country?

	 (a)	 India 	 (b)	 Bangladesh
	 (c)	 Dominican Republic 	 (d)	 Cuba
	 78.	 By increasing the legal age of marriage for women, 

the Government of India has fixed how much?
	 (a)	 20 years 	 (b)	 18 years
	 (c)	 21 years 	 (d)	 23 years
	 79.	 ‘Poshan Gyan Digital Kosh’ has been launched by 

NITI Aayog in partnership with which of the 
following?

	 1.	 Bill and Melinda Gates Foundation
	 2.	 Ashoka University
	 3.	 Amity University
	 (a)	 1 and 2 only 	 (b)	 1 only
	 (c)	 2 and 3 only 	 (d)	 3 only
	 80.	 Which of the following organizations has done the 

work of developing the 'Swadesh Project'?
	 (a)	 Department of Biotechnology-National Brain 

Research Centre
	 (b)	 Department of Defence Production
	 (c)	 Department of Telecommunications
	 (d)	 All of the above
	 81.	 'International Day for the Elimination of Violence 

against Women' is observed on which day all over 
the world?

	 (a)	 8th March 	 (b)	 25th November
	 (c)	 5th June 	 (d)	 22nd April
	 82.	 The Ministry of Culture has launched a scheme for 

financial assistance for the development of which of 
the following arts and culture under the 'Kala 
Sanskriti Vikas Yojana'?

	 (a)	 Maithili Art and Culture
	 (b)	 Tibetan/Buddhist Culture and Art
	 (c)	 Northeast Art and Culture
	 (d)	 South Indian Art and Culture
	 83.	 Under which segment the new scheme 'Bharat 

Gaurav' has been announced by the Indian Railways 
to harness the vast tourism potential?

	 (a)	 Tourism Segment	 (b)	 Passenger Segment
	 (c)	 Goods Segment 	 (d)	 All of the above
	 84.	 Which sites of Madhya Pradesh related to Chalcolithic 

culture were excavated by the Archaeological Survey 
of India in Madhya Bharat?

	 1.	 Eran (Sagar) 	 2.	 Tewar (Jabalpur)
		  Code:
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	 85.	 rkez&ik"kk.kdkyhu laLÑfr dh fuEufyf[kr fo'ks"krkvksa ij 
fopkj dhft;s%

	 1.	 bl dky ds vfèkdka'k yksx uxjh; Fks vkSj eSnkuh 
{ks=kksa esa fuokl djrs FksA

	 2.	 bl laLÑfr esa lkekftd lajpuk] vukt vkSj feV~Vh 
ds crZuksa esa {ks=kh; varj fn[kkbZ nsrk gSA

	 3.	 Hkkjr esa ;g izFke èkkrq ;qx dk vkjaHk FkkA

	 4.	 rkez&ik"kkf.kd yksx vfèkdka'kr;k xSfjd&e`n~HkkaMksa 
dk iz;ksx djrs FksA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1, 2, 3

	 (b)	 dsoy 2, 3

	 (c)	 dsoy 1, 4

	 (d)	 lHkh 1, 2, 3, 4

	 86.	 dk'kh fo'oukFk dkWfjMksj cuus ds iwoZ fuEufyf[kr esa ls 
fdlus dk'kh fo'oukFk eafnj vkSj mlds vkl&ikl ds 
{ks=k dk th.kkssZ¼kj djk;k Fkk\

	 (a)	 jkuh y{ehckbZ

	 (b)	 jkuh vfgY;k ckbZ gksYdj

	 (c)	 jkuh iÁkorh

	 (d)	 csxe g”kjr egy

	 87.	 Hkkjrh; ukSlsuk esa vkSipkfjd :i ls 'kkfey fd;s x, 
^vkbZ,u,l fo'kk[kkiÙkue* dh fuEufyf[kr fo'ks"krkvksa ij 
fopkj dhft;s% 

	 1.	 ;g P-17A Js.kh dk iksr gSA

	 2.	 ;g LVhYFk&xkbMsM felkby foèoald iksr gSA

	 	dwV%

	 (a)	 dsoy 1 lgh gS

	 (b)	 dsoy 2 lgh gS

	 (c)	 1 vkSj 2 nksuksa lgh gSa

	 (d)	 u rks 1, u gh 2 lgh gS 

	 88.	 fuEufyf[kr esa ls dkSu&lh ;q¼ ç.kkyh leqnzh ;q¼ {ks=k 
esa vkèkqfud jMkj vkSj tgk”k&jks/h felkbyksa ds f[kykiQ 
j{kk dh ,d bysDVªkWfud lqj{kk ijr iznku djsxh\

	 (a)	 'kfDr	 (b)	 mQtkZ

	 (c)	 izdk'k	 (d)	 iQkslZ

	 89.	 baVjiksy ds us'kuy lsaVªy C;wjks ds :i esa Hkkjr esa fdl 
laLFkk dks ukfer fd;k x;k gS\

	 (a)	 CBI	 (b)	 RAW
	 (c)	 IB	 (d)	 ED

	 90.	 f=ki{kh; rVj{kd vH;kl ^nksLrh* esa fuEufyf[kr esa ls 
dkSu 'kkfey ugha Fkk\

	 (a)	 Hkkjr	 (b)	 ekynho

	 (c)	 Jhyadk	 (d)	 E;k¡ekj

	 85.	 Consider the following features of Chalcolithic 
culture:

	 1.	 Most of the people of this period were urban 
and lived in the plains.

	 2.	 Regional differences are visible in this culture 
in the social structure, grain and pottery.

	 3.	 This was the beginning of the first metal age 
in India.

	 4.	 Chalcolithic people mostly used Ochre-
Coloured pottery.

		  Which of the above statements are correct?
	 (a)	 1, 2, 3 only 

	 (b)	 2, 3 only

	 (c)	 1, 4 only 

	 (d)	 All 1, 2, 3, 4

	 86.	 Before the formation of Kashi Vishwanath Corridor, 
who among the following had renovated the Kashi 
Vishwanath temple and its surrounding area?

	 (a)	 Rani Laxmibai 

	 (b)	 Rani Ahilya Bai Holkar

	 (c)	 Rani Padmavati 

	 (d)	 Begum Hazrat Mahal	

	 87.	 Consider  the  fol lowing features  of  ' INS 
Visakhapatnam', formally commissioned into the 
Indian Navy:

	 1.	 It is a P-17A class ship.

	 2.	 It is a stealth-guided missile destroyer.

		  Code:
	 (a)	 Only 1 is correct 

	 (b)	 Only 2 is correct

	 (c)	 Both 1 and 2 are correct

	 (d)	 Neither 1 nor 2 is correct	

	 88.	 Which of the following warfare system will provide 
an electronic security layer of defence against modern 
radar and anti-ship missiles in the maritime warfare 
zone?

	 (a)	 Shakti 	 (b)	 Urja

	 (c)	 Prakash	 (d)	 Force

	 89.	 Which institution in India has been designated as the 
National Central Bureau of Interpol?

	 (a)	 CBI 	 (b)	 RAW

	 (c)	 IB 	 (d)	 ED

	 90.	 Who among the following was not involved in the 
Trilateral Coast Guard Exercise 'Dosti'?

	 (a)	 India 	 (b)	 Maldives

	 (c)	 Sri Lanka 	 (d)	 Myanmar
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	 91.	 S–400 ,;j fMisQal felkby flLVe ls lacafèkr fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g :l }kjk fM”kkbu dh xbZ ,d xfr'khy vkSj lrg 
ls gok esa ekj djus okyh felkby iz.kkyh gSA

	 2.	 ;g iz.kkyh 30 fdeh- rd dh mQ¡pkbZ ij 400 
fdeh- dh lhek ds Hkhrj foeku] ekuo jfgr gokbZ 
okgu vkSj cSfyfLVd rFkk Øwt felkbyksa lfgr 
lHkh izdkj ds y{;ksa dks Hksn ldrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1

	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1, u gh 2

	 92.	 Hkkjrh; ok;qlsuk }kjk S–400 ,;j fMisQal felkby flLVe 
dh igyh ,DokWMªu dks fuEufyf[kr esa ls fdl lsDVj esa 
rSukr fd;k x;k gS\

	 (a)	 iatkc	 (b)	 mÙkj izns'k

	 (c)	 dukZVd	 (d)	 tEew vkSj d'ehj

	 93.	 gokbZ fMyhojh vuqlaèkku ,oa fodkl izfr"Bku (ADRDE) 
ls lacafèkr dFkuksa ij fopkj dhft;s&

	 1.	 ;g DRDO dh ,d vuqlaèkku ,oa fodkl 
iz;ksx'kkyk gSA

	 2.	 blus CADS–500 dk gokbZ izn'kZu fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 94.	 lqijlksfud felkby vflLVsM VkWjihMks dks fuEufyf[kr esa 
ls fdlus fodflr fd;k gS\

	 (a)	 DRDO	 (b)	 ADRDE

	 (c)	 DLRL	 (d)	 mi;qZDr lHkh

	 95.	 ofVZdy ykWUp 'kkWVZ js at ljisQl Vw ,;j felkby 	
(VL–SRSAM) dk liQy ijh{k.k Mh-vkj-Mh-vks- us 
fuEufyf[kr esa ls fdl LFkku ls fd;k gS\

	 (a)	 pkanhiqj

	 (b)	 Oghyj }hi

	 (c)	 fr#ouariqje

	 (d)	 vgenkckn

	 96.	 fcElVsd lnL; ns'kksa ds fy;s iSusDl&21 uked ekuoh; 
lgk;rk vkSj vkink jkgr vH;kl dk vk;kstu fuEufyf[kr 
esa ls fdlus fd;k\

	 (a)	 j{kk vuqlaèkku ,oa fodkl laxBu] fnYyh

	 (b)	 lSU; bathfu;fjax dkWyst] iq.ks

	 (c)	 j{kk bysDVªkWfuDl vuqlaèkku iz;ksx'kkyk] gSnjkckn

	 (d)	 buesa ls dksbZ ugha

	 91.	 With reference to the S-400 Air Defence Missile 
System, consider the following statements:

	 1.	 It is a maneuverable surface-to-air missile 
system designed by Russia.

	 2.	 This system can hit all types of targets, 
including aircraft, unmanned aerial vehicles, 
and ballistic and cruise missiles, within a range 
of 400 km at an altitude upto 30 km.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 

	 (b)	 2 only

	 (c)	 Both 1 and 2 

	 (d)	 Neither 1 nor 2

	 92.	 In which of the following sectors the first squadron 
of the S-400 Air Defence Missile System has been 
deployed by the Indian Air Force?

	 (a)	 Punjab	 (b)	 Uttar Pradesh

	 (c)	 Karnataka	 (d)	 Jammu & Kashmir

	 93.	 Consider the statements related to Aerial Delivery 
Research and Development Establishment (ADRDE)–

	 1.	 It is a R&D laboratory of DRDO.

	 2.	 It has conducted flight demonstration of 
CADS-500.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 94.	 Who among the following has developed Supersonic 
Missile Assisted Torpedo?

	 (a)	 DRDO 	 (b)	 ADRDE

	 (c)	 DLRL 	 (d)	 All of the above

	 95.	 From which of the following places DRDO has 
successfully test-fired Vertical Launch Short Range 
Surface to Air Missile (VL-SRSAM)?

	 (a)	 Chandipur 

	 (b)	 Wheeler Island

	 (c)	 Thiruvananthapuram 

	 (d)	 Ahmedabad

	 96.	 Who among the following organized the humanitarian 
assistance and disaster relief exercise called 
PANEX-21 for BIMSTEC member countries?

	 (a)	 Defence  Resea rch  & Deve lopment 
Organisation, Delhi

	 (b)	 Military Engineering College, Pune

	 (c)	 Defence Electronics Research Laboratory, 
Hyderabad

	 (d)	 None of the these
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	 97.	 47osa jkelj LFky ds :i esa fuEufyf[kr esa ls fdls ukfer 
fd;k x;k\

	 (a)	 cqDlk	 (b)	 gSnjiqj

	 (c)	 iUuk	 (d)	 flEgkfnz

	 98.	 jkuh xSfMuY;w vkfnoklh Lora=krk laxzgky; dk fuekZ.k 
dgk¡ fd;k tk jgk gS\

	 (a)	 yqvkaxdkvks	 (b)	 bEiQky

	 (c)	 vkb”kksy	 (d)	 fnliqj

	 99.	 okeiaFkh usrk xSfcz,y cksfjd fuEufyf[kr esa ls fdl ns'k 
ds lcls ;qok jk"Vªifr fuokZfpr gq,\

	 (a)	 fpyh	 (b)	 D;wck

	 (c)	 cksyhfo;k	 (d)	 vts±Vhuk

	100.	 1974 esa Hkkjr vkSj Jhyadk ds chp gq, ,d le>kSrs ds 
rgr fuEufyf[kr esa ls fdl }hi dks Hkkjr us Jhyadk dks 
ns fn;k\

	 (a)	 dpkFkhoq }hi	 (b)	 eUukj }hi

	 (c)	 jkes'oje }hi	 (d)	 buesa ls dksbZ ugha

	 97.	 Which of the following was designated as the 47th 
Ramsar site?

	 (a)	 Buxa 	 (b)	 Haiderpur

	 (c)	 Panna 	 (d)	 Simhadri

	 98.	 Where is the Rani Gaidinliu Tribal Freedom Museum 
being constructed?

	 (a)	 Luangkao 	 (b)	 Imphal

	 (c)	 Aizawl 	 (d)	 Dispur

	 99.	 Leftist leader Gabriel Boric elected the youngest 
president of which of the following country?

	 (a)	 Chile 	 (b)	 Cuba

	 (c)	 Bolivia 	 (d)	 Argentina

	100.	 Which of the following island was given to Sri Lanka 
by India under an agreement between India and Sri 
Lanka in 1974?

	 (a)	 Katchatheevu Island 	 (b)	 Mannar Island

	 (c)	 Rameshwaram Island 	(d)	 None of these


